e e A

wirfiraree fafaa it
R0WY/0F/R%
KEY [A]
EERR L
T oo quiiE : 900

fow : wmw= 9F, e, e ToE

STYRGHM TATTH KEY e €90 Seoi@ 749 | Ioerd Al STy T oS | aem
|Calculator, Mobile ¥2rT 71+ Treer |

Multiple choice 100 x 1 = 100 Marks

1. TAHHE HA FEHIYEE ST ST 85 ?
A) TAHEA B) el C) W= D) geE e
Which one of the following is not written by Laxmi Prasad Devkota?
A) Munamadan B) Sulochana C) Narendra Dai D) Prithvi Raj Chauhan
2. WS WEEHH FHH YIH WS ? '
A) WREH.. B) WWH.% C) WAwrH.y D) WU ¥

In which province does the place called Martadi lie?

A) Province No. 7 B) Province No. 6 C) Brishbhanu Devi D) Pratap Malla
3. gymfaneye wf- famfor 57 o e e 2

A) TEETE B) W=vEdg C) TuUNHeE D) W Hed

Which king built Pashupatinath Temple? =

A) Narendra Dev B) Parchanda Dev C) Brishbhanu Devi D) Pratap Malla
4. TAE U] i FHRH AT THH W ATTH B9 2

A) & B) < C) 9o D) 11
How many rates of paper money have been in circulation so far in Nepal?
A) 8 B) 9 C) 10 D) 11
5. fEe Jurel gons fesmew goa =fa ford) 2
A) T B) % 0 3w D) ¥ i
What was the price of the first Nepali Postal ticket?
A) 1 paisa B) 2 paisa C) 3 paisa D) 4 paisa
6. Tagrd Taus! areft ‘<" I U W AE S 8 2
A Wl B) C) @wn D) %WEH
What was thie charioteer of Siddhartha Gautam "Chhandaka" called in Pali Language?
" A) Chali B) Channa C) Chhwala D) Kumdum
7. TR AEHIIEE SaH G THAS ST A 2
A) T UEY B) i Wik C) == D) i@ ge
Which is the only novel written by the Great Poet Laxmi Prased Devkota?
A) Sarpadansha B) Damini Bhir . C) Champa D) Antadekhi Shuru
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9.

10.

11.

12.

13.

W 19 11 e suge fosed srgg™!

El wEll

a. U gIAES 1. ufeEEH
b. W GEHia FE 2. Tenedr
c. HE HY YEN HE 3. e
d. U 391 e 4. AU

A) a4,b-3,c2,d-1 B) a-l,b-2,c-3,d-4 C) a-2,b-3,c4,d-1

Matchig Group I and Group II, select the suitable option.

Group I Group I1

a. SAARC Information Centre 1. Pakistan

b. SAARC Culture Centre 2. Bangladesh
c. SAARC Agriculture Information Centre 3.  Shrilanka
d. SAARC Energy Centre 4. Nepal

A) a4,b3,c2,d1 B) alb-2c-3d4 C) a-2,b-3,c-4,d-1
FqrE SfAGR HH 9T =D ?

The name Governours of Nepal Rastra Bank have been given below. Which alternative is correct

D)

D)

D)

D)

D)

D)

D)

D)

D)

D)

D)

a-3,b-2, c-1,d-4

a-3, b-2, c-1, d-4
Q|

Khamchi

Jhapa
SR H g
Mt. K 2
e

Sahanai

A) TSI B) W& C) e
Which language is spoken by 'Chepang'?

A) Praja B) Pandi C) Jangba
eI 9 foteet aUsHl e ? :

A) & B) FaerauHt ) grEl
Which of the following district doesn't lie in Terai?

A) Bardiya B) Nawalparasi C) Sunsari
TeTR! HAHNE [GHICTH] IR & TAR HIHRTFH B ?

- A) AR TESH B) #T] C) hesisE
Which of the following mountain's height is less than 8 thousand meter?
A) Mt Albarsh B) Manaslu C) Kanchanjungha
FAEE Goaere 85 ?

A) TR B) @ C) = E

Which is not Panchebaja?

A) Tyamko B) Dholak C) Damaha

Yurer T A mEREER! A1 a9 R B | @ Aweear gt ffte s S e e
1 w3 g9 ?

q) foommg e ) fomemg e 3 A9EEES a

A) -1 B. =3-% O 3R

9-3-R

while arranging these names in ascending order on the basis of their appointment dates?
1) Bijaya Nath Bhatarai 2) Tilak Bahadur Rawal

3) Bhekh Bahadur Thapa
A)  3-2-1 B) 1-2-3 C) 3-1-2

~ Y ~

D)

1-3-2



14.

15.

16.

17.

18.

19.

%wmﬁﬁ%mﬁm%mﬁﬁ%mmmmﬁ ?

A) & i B) ' wfawm 0 & v D) « wfierm
What is the Cash Reserve Ratio (CRR) requirement for the Development Banks of Nepal?
A) 8 percent B) 7 percent C) 6 percent D) 5 percent
AT Afect aifos S 1 @ 2

A) FhfmEmInf. B) faemdsf. ) Swwds D) et o ¥ far.
Which is the first commercial bank of Nepal?

A)  Agriculture Development Bank Ltd. B)" Himalayna bark Ltd.

C) Nepal Bank Ltd. = 8 D) Nepal Arab Bank Ltd.

AR deh 1 Torefiar Weu Wroaeran argaf ey (ardde) R 2

A) FUfermdFEfa. B) wHo@idmmsn  © Yuods . D) AU UL 3%

Which of the following issues permission (licence) to operate Bank and Financial Institutions?

A)  Agriculture Development Bank Ltd. B) Employee Provident Fund

C) Nepal Bank Ltd. : D) Nepal Rastra Bank

TEHEY FHAAIE faf g Afras 2 2 ‘

A) I B) g% 0 Ui D) TR IF hfe
Which of the following is not a negotiable bill of exchange?

A) Cheque B) Draft C) Rent Agreement D) Letter of Credit
T T A TAHEE . . . . ) A W e T 9 |

A) U TWEHER B) YIS TR € H g

C) faelt d=ia S D) USHfaE den

Nepal Rastra Bank cannot open and take in operation the account for . .

A)  Government of Nepal ) B) Government agencies of Nepal Government
C) Foreign Central Bank D) Political Institution

hmﬁﬁﬁ#w@mmmm&mmﬁmmm@,?wammﬁw
?

A) FEITH HIEH TEE TR THH g

B) Fﬁmﬁgﬁﬁmmﬁ

C) TEIOTHEE T3 YAy THIeH THIG YA T : Frgfies g Aurey

D) wedrer wfufamn Hitm vty weames ggot

Which of the following is not provisioned in the Bank and Financial Institution Act, 2073 regarding
the Board of Directors of the Bank and Financial Institution?

A) Board Director should be of atmost 4 years

B) The Board Directors should be appointed by the General Assembly of the institution
C) Board Directors are not reappointed when their tenure is finished once

D) there should be at least five persons in the Board of Directors

e YL



20.

21.

22,

25.

26.

27.

Srqreren rare T et shfrae gEr AR faf g S dhl B 2

A) 5 A B) 9°A C) RoHmt D) EA

How many open market exchange currency has been specified in Nepal by NRB?

A) 18 currency B) 19 currency C) 20 currency D) 21 currency
mmmmmmmmmzmmww
B ? '

A) 3 B) ¥ [ 5 e | D) %

How may schedules of the Constitution of Nepal have listed the power of state distributed to
Federation, Province and Local Level?

A) 3 B) 4 c 5 D) 6
@mmmmmmwmmwmmm$ma?
A) WRuH.¥ B) W¥H.Y C) WuH. D) WWH.©

According to the Multidimensional Poverty Index Published by National Planning Commission,
which Province of Nepal is with highest prevalence of poverty?

A) Province No. 4 B) Province No. 5 C) Province No. 6 D) Province No.7
orerE M STER T STARTAT SR AR e S T e S 2
A) ¥ B) X% c 3 D) HAETIEHAl FTER

How many members are provisioned in the Llinguistic Commission except its Chairperson as per
the Constitution of Nepal?

A) 4 B) 5 ) By, D) As per necessity
3. 0o/ eY. T TRT T TEHRS FHEREE Fan Hias st Hid qhenl 3 2

A) F.%,300 B) ¥.%,400 C) ¥.],%00 D) ¥%.90,000

What is the minimum monthly wage of worker fixed by government of Nepal for FY 2074/75?
A) Rs.9.300 B) Rs.9,500 C) Rs.9,700 D) Rs. 10,000

2T TR Firae S faER & seon TR 82

A) % B) © C. & D) %

Hom many places of Nepal have been declared wetland (Simshar) now? k

A) 6 B) 7 C) 8 D) 9

AtBﬁmmmiﬁﬂmnﬁmmﬁAéBﬁW?ﬁmmm@mﬁmuﬁA
o A . . . e faes wRs |

A) & B) Rf= ) f= D) ¥f&

A and B together can do a piece of work in 9 days. If a does thrice the work of B in a given time, A
alone can finish the work in . . . days.

A) 15 days B) 12days C) 6days D 4 days

Ife gy T FUEH T T. 4,350 TS ¥ R TIerehl % firex 9= Hid ged Iel ?

A) ®.3900 : B) ¥.R,08% C) %.R,040 D) ¥.3,0%4

If 15 meters of cloths costs Rs. 1,260, find the cost of 25 meters of the same type of cloths.

A) Rs. 2,100 B) Rs.2,075 C) Rs.2,050 D) Rs. 2,025

o W



29,

30.

31.

32.

33.

35.

%o fax d& ﬁuﬁm?%ﬁmmwmﬁmwwﬁ;

A) % J B) ¥ C) R4

1
How many jars each of capacity of 2 3 litres are needed to fill up 60 litres of o0il?

A) 23 B) 24 C 25

afE A SUSIHI 3/¥ TR & . g5 W W SR W TR A § 2
A) B) «fa. Cc) s -

If 3/4 of a stick is 6m, what will be the value equal to 5/8 of that stick?
A) 2m B) 5m C) 8m
ﬁma%mfﬂﬂ?%m....ﬁl

A) 19”0 B) 9370 O 1310

2
The subtraction of 2 % from 3 3 18 a

A) 11/10 B) 12/15 C) 13/10
=1 forres A Taw=I S HA & 2

A) 939 B) 9RAX C) 19AY
Which of the following fractions is the largest?

A) 17721 B) 12/155 C) 11/14
= %aﬁwm TR} FEThTE A 3 G ?

A) 0.9 B) o0.009 C) ow

7
Which of the following is correct to convert the fraction 10 into decimal?

A) 0.71 B) 0.007 C 07
355% + 9R.34R - x = IGYY.00% T x HI HH &fd 3 ?
A) YORY B) ¥¥.RY C) YIRY
In 3889 + 12.952 — x = 3854.002, what is the value of x?
A) 4795 B) 4495 C) 43.95
T Yferaent STHTETE SUHCTHT sl id &9 ?
A) o0.00% B) o.0¥ C) 0.0
What is the value of half of 1 per cent written in decimal?
A) 0.005 B) 005 ; C) 0.02
TTHHES IR A1 fehres G & & 2
TPR PTI PTR
A 1 =700 B) I= 100 Gy =7000
Which of the following is the formula for calculating Simple Interest (I)?
TPR PTI : PTR
A I= 100 B) I= 100 C) =7000

~ ¥\9 ~

D)

Dy

D)

D)

D)

D)

D)

D)

D)

D)

D)

D)

D)

. D)

D)

D)

®"

26
99 fA.

1Im

q¥/q0

14/10

R

5/6

0,09

0.07
¥03Y -
40.95
oY
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36.

37.

38.

39.

41.

42.

ZE FFEEE WAl . 40,000 I gE THY WIS TRR! TR SATSH! T ©. meauﬁﬁmaﬁﬂmm
TTeh! Tk hid Ffawrd &S ?

A) Y4% B) 34% C) 4% D) 4%

If the difference between the simple Interest received from two banks on principle Rs. 50,000 for
two years is Rs. 2,500, what is the percentage of difference between their interest rates?

A) 45% B) 3.5% C) 2.5% D) 2.25%
i w90 T FURY S ST L THAI F. 9,400 FD ?

A) F.Y¥,%00 B) . ¥,000 C) % %300 D) ¥.Y%,300
What sum will amount to Rs. 7,500 in 5 years at 10% per annum simple interest rate?

A) Rs. 4,900 B) Rs. 5,000 C) Rs.5,100 D) Rs. 5,200

xomeﬁastmﬁmaﬁaﬁwwqxaﬁwuﬁmmwwmmeﬁwm
R IR a2
A) o=y B) 4o C) sy D) ey =y

The average age of 50 students and a teacher is 25 years. When the teahcer's age is excluded, the
average age decreases by 1 year, what is the age of the teacher?

A) 50 years B) 51 years C) 64 years D) 75 years
‘1%,‘1‘1,‘1_3,ﬁo,ﬁﬁ,ﬁ?,ﬁt%mmmeﬁmaﬁt%ﬁaﬁﬁ?
A) Qo B) R C) R4 D) q3°d

The ages of eight girls are 16, 11, 13, 10, 11, 12, 16 and 15 years, which of the following is an
average age?

A) 11 years B) 12 years C) 12.5 years D) 13 years

99 ST femefiat sfraa = Q¥R 1. B | w=a fonefier s Sreg 74f ofrwa 39E ¥ AL 791 B
A faenedient 3=ms =fa @, S

A) vy Afa B) 9ve dfa. C) quRafm D) 94 ¥fa.

Average height of 11 students is 142 cm. When a student leaves the class, the new average height
becomes 141 cm. What is the height of the leaving student?

A) 145cm B) 147cm C) 152cm D) 159cm
i Jwas %. 9,050 P T QU §D ?

A) 1% B) 1R% 0 % D) 4%
What percentage of Rs. 1,060 is Rs. 1597 !

A) 10% B) 12% C) 14% D) 15%
TS HY W 950 1 Foanefieeqed 93 51 Hhilg® T difh heles 9 | Hele® it Hawd-ere ?
A) ¥0% B) %% C) 9% D) %¥%

In a class of 180 students, 72 are girls and rest are boys. What is the percentage of boys?
A) 40% B) 56% C) 60% D) 64%
¥00 ! Yo Hfcerae! ¥ Hfaera fd &2 ?

A) %0 B) ¥ O 9% D) &%
What is 4% of 40% of 4007

A) 160 B) 64 C) 16 D) 64

~¥E ~



45.

47.

48.

49.

50.

7 TG o] T I e Y W B W M AR FRES 7
A) 9%0% - B) R00% C) 300% D) 340%

If cost price is 25% of the selling price what is the profit percentage? )

A) 150% B) 200% C) 300% D) 350%

TS ST Hfhd e F. 3,500 B TR GE WA ¥ Uiwe B 9 I ) areafas Ted S e 2
A) F.3,%90 B) ¥.3,¥90 C) %.373% D) % 3,390

If the marked prices of a watch is Rs. 2600 of which discount allowed is 5%, what is the actual price
of the watch?

A) Rs.2570 B) Rs. 2,470 C) Rs.2,370 D) Rs. 2,270

T3 ShIeAl F. 100 HT AT HEl AFH T 1,400 AT AT B AH §5 | AT A AW AFGH 4T
AR T YA HiA §O ? :

A) T.99%0 B) ¥.9,300 C) ¥4 D) ¥q300

There is some loss in selling a bag for Rs. 900 and there is some profit in selllig the bag for Rs.
1,500. If the loss is twice that of profit, how much is it's cost price?

A) Rs. 1,150 B) Rs. 1,200 C) Rs.1250 D) Rs. 1,300
. 3,000 A1 fRAen! et AW . R, ¥00 A I o &l werera Ao &9 2
A) 19% B) 5% 0 1% D) 0%

If a table purchased on Rs. 3,000 hand to sell for Rs. 2,400 due to scratches, what is the loss
percentage?

A 17% B) 18% ' C) 19% D) 20%

T3 B &9 T Hfgern faenefien dermst sque ¥:3 3 | afe wfen famneiea @emn 30 5 s ey
fereneft =fa e 2

A) 330 B) 3®¥o C) 3o D) 3%o

The ratio of the number of male and female students in hostel is 4 3. If there are.270 female
students, what is the number of male students?

A) 330 B) 340 C) 350 D) 360

Tesuah! Frsen! vl FIM 3 : © @ & YT RIEEH! 7 T TSI |

A) 307 3¢° q9W° B) ¥0° %0°, jo° C) 307, 90", 5o° D) ¥o° %0°, 8o°
Given ratio of angle of triangle is 3:7:8, find the value of angles,

A) 30° 35°115° B) 40° 50°, 90°

C) 30° 70° 80° D) 50°, 60°, 70°

1 T R TH] THEEIEY Yo uﬁmwtao uﬁmaﬁmfmwu It gewmed 370 mﬁaﬂ%a
B v TfgeTewen! wid am srfaaifed 2 2

A) W - B) 973 C e D) 373

In a group of persons, 70% of the persons are male and 30% of the persons are married. If Zﬁ of the
males are married, what fraction of the females is single?

A) 217 B) 173 C 37 D) 273

s



51.

52,

53.

54.

55.

56.

Tt T 3 T, Y045 FHITY qe SeTEd FAAIE Tare UG Sehehl Tvd WA 2

A) i T T e feri fosra aun TuE) SEeeE T e T IR et i
. arevas Hifes qun fadeh fafrem ifs o

B) afwn aun faxi e wmiE wew T AT aw fade wonelt 9 faxia Jarn w9 3

TR favaata afygfe 7

C) Tferd Ty AU WEH TR NUNETeR! ferhrE T

D) S qen fasfa wonetien foreem, Friteror, goftaern qen sgmeE T

According to Nepal Rastra Bank Act, 2058, which of the following is not the objective of Nepal
Rastra Bank? -

A) To formulate necessary monetary and foreign exchange policies in order to maintain the
stability of price and balance of payment for economic stability and sustainable development of
economy and manage it

B) To increase the access of the financial services and the public confidence toward the banking
and financial system by maintaining stability of banking and financial sectors

C) To develop secured healthy ad efficient system of payment

D) To regulate inspect supervise and monitor the banking and financial system

NERS RI U EIH & ? :

A) Nepal Financial Ref)orting Standard B) Nepal Fiscal Reporting Standard

C) Nepal Financial Restructruing Summit D) Nepal Fiscal Restructing Summit
What is the full form to NFRS?

A) Nepal Financial Reporting Standard B) Nepal Fiscal Reporting Standard
C) Nepal Financial Restructruing Summit D) Nepal Fiscal Restructing Summit
IO S STl e T TR Shid Wi TR faoe v SRt TS 2

A) % B) ¥% C) Y4i% D) 4%

What is the percentage of the total loan that the comerical bank should extend to the deprived
sector?

A) 3% B) 4% C) 45% D) 5%
OTET g SR Hi S SYE TS A AT B 2

A) 1 B} R (O D) ¥
How many Deputy Governors are provisioned in Nepal Rastra Bank? j
A) 1 B) 2 C) 3 D) 4
YTl T ek eI o T IEE Wl B 2

A) % - B) 1% C) 1 D) 95
How many Departements are under the Nepal Rastra Bank?

A) 15 B) 16 c 17 D) 18
AT T SFehah! FTeTeh! GSil TS Hid S 2 '

A) 33 B) Y3 C) ¥ D) &3
What is the approximate capital of Nepal Rastra Bank at present?

A) 3 Arba B) 4 Arba C) 5 Arba D) 6 Arba

~%0 ~



57.

58.

59.

61.

HTer TR T A9 T Sware guad G e TS 2

A)  FUEES aen afERess SEied B) e wed

C) @M, sfoRa agl Sgfd e D) figa g smam
Which body coordinates between Government of Nepal and Nepal Rastra Bank?
A) Office of Prime Mininster and Council of Mininster

B) Mininster of Finance

C) Ministry of Industry, Commerce and Supply

D) National Planning Commission

et T SR HEHI AR HA HE §a?

A fewmfwmRE B) Hfgs Aifaagm  C) & go D) fFrERusk e
Which is not included in the functions of Nepal Rastra Bank among the following?
A) Issue of coins B) Formulation of monetary policy
C) Credit creation D) Determination of exchange rate system
ESIECRER e ko] wmmmwwm@wwmm
A) 3 B) ¥ C X D) &

In how many catagories the licensed institutions should classify their entire loan and advances based
on the period of expiry of deadline?

A) 3 B) 4 €) 5 D) 6
Aot Tdee ‘g’ mmmﬁmmmﬁmmﬁw ?
A) SR =rel e weat o et s A

B) e THH SRR T SRS T

C) TR ! 7d i feré whet T fadrorent HRER 7

D) A =i wfE foh T

Which of the following transaction cannot be done by "B" class licensed financial institution from
Nepal Rastra Bank?

A) Obtaining the loan by pledging its own moveable and immovable assets

B) Transaction related to money transfer within Nepal

C) Transaction of letter of credit and remittance subject to prior approval from NRB

D) Purchase and sale of gold and silver
S5 e Fareln SeeTeh SR W ST el A .o SaEE S |

A) e e afafa B) e wfHfa

C) ToawEE afafa : D) U TZ SR

Chief Executive Officer of Bank and Financial Institution shall be accountable to the . . . . for his
functions.

A) Internal Audit Committee B) Discipline Committee

C) Board of Directors D) Nepal Rastra Bank

3qrer T S 2gd T e e TS 2

A) I UL FHH TR B) Ui U Semehl HedIeh A

C) e TR (AFEaiER) D) &Y wHAEH

~ %]~



63.

65.

67.

68.

Who appoints the Deputy Governor of Nepal Rastra Bank?

A) The governor of Nepal Rastra Bank B) Board of Director of Nepal Rastra Bank
C) Government of Nepal (Council of Ministers) D) Ministry of Finance

eI i TR S g farei weues B 2

A) U= B) =R C) = ; D) @

How many types of Bank and Financial Institutions are in Nepal?

A) Five B) ‘Four C) Three D) Two

mwmmmwmwmmmwmm?

A efem B) qyfea C) ofm D) 3of@E=

Within how many days of the completion of a month, Nepal Rastra Bank should prepare and publish
it's Balance Sheet?

A) 7 days B) 15 days C) 20days D) 30days -

1. 309¥/9Y HI Hifsew i sgar wgfaw fady e HTHAT Areshae feeshan Hfa wfaerd ar Jar
e o = syaeen s 2

A) R B) 3 C ¥ D) ¥

According to Monetary Policy of FY 2074/75, what is the maximum percent of service charge that
micro-finance companies can level to their customers? . :

A) 2 B) 3. C) 4 D) 5

A UL FFA ... .sﬁﬂmﬁﬁm@mmmﬁmﬂaamﬁiﬂwmmaﬁwﬁwam
RS | :

A) B) Uiy C) - wrafes D) wifgs

Nepal Rastra Bank calculates Comulsory Cash Reserve of Bank and Financial Institutions on the
basis of average . . . . reserve.

A) daily B) fortnightly C) weekly D) monthly
A ST FRIAR Tl ST STTa9 FF bt ¥e s 2

A) 3% gETe B) el U 9%

C) F1 R Faier D) Wiy %7 B

Who will provide the licence to the money changer?

A) Minister of Finance B) Nepal Rastra Bank

C) Office of the Company Register ' D) None of the above

SWIFT HI QU E I & & ?

A)  Society for Wordwide Interbank Financial Telecommunication
B) Society fof Worldwide International Financial Transfer

C) Society for Worldwide Interbank Fund Transfer

D) Society of Wireless International Financial Telecommunication
What is the full form of SWIFT?

A) Society for Wordwide Interbank Financial Telecommunication
B) Society fof Worldwide International Financial Transfer -

C) Society for Worldwide Interbank Fund Transfer

D) Society of Wireless International Financial Telecommunication

R L. 1



69.

70.

71.

72.

73.

74.

75.

T T AT A A HISAHETE JUTe 3T THHT a0 SRR 9H-s ?

A)  EUEHIR T FERL TR B) T YoMt FHT R WU

C) TR ST YONCHHTA HAl IR WU D) = IS :

Through which medium that the amount of money sent by overseas Nepali citizens is called
remittance transaction?

A) Money transferred through 'hundi' B) Money transferred through banking system
C) Money transferred through non banking system D) ~ All of the above

T S TRUT T e Wi feu! el fafma Fier T Sereaes W qerenl F1 w9 ?

A) =afs B) T ©C) Hen D) iR 9
Among the following, which is in the definition of money changer as permifted by Nepal Rastra
Bank to conduct money changing business? g

A) Person B) company C) institution D) all of the above
Tfee fordel gs1 Ehe FRERE! @i SIees W T4 S A Yok 11 T FHH JHSgIes 2
A) %.3,000 B) ¥ 3,400 C) 3.3,000 D) % 3,400

How much annual fee must be paid to Nepal Rastra Bank to obtain licence of money changer for
convertible currency purchase transaction?

A) Rs. 2,000 B) Rs.2,500 C) Rs.3000 D) Rs.3,500

YaTer T2 ek B U S A SsoR fatrrEe S T B 2 ' :

A) AU UL A% A, 045 B) &% qun faria ween gt T, j093

C) fassh fafrea (fremfa ) T, 209 D) THI T, 04

Under which law Nepal Rastra Bank has issued Money Changer Bylaws?

A) Nepal Rastra Bank Act, 2058 B) Bank and Financial Institution Act, 2073

C) Foreign Exhange (Regulation) Act, 2019 D) Public Debt Act, 2059
fyfegue FHETE T fior gt e T w5, HET S R | i g el AT 16 2
A) T9FIS B) % 3HUS C) T.UFIE D) %.90HS.

How much paid up capital is required for a firm, company or institution which works as a principal
company in.remittance transactions?

A) Rs. 1 crore B) Rs. 3crore C) Rs.5corore D) Rs. 10 crore
THifser +ifa g freree Sl 6w 2

A) U TR B) e ueds C) UfemdsmamEm D) W gEs
Which entity issues the Monetary Policy? '

A) Government of Nepal B) Nepal Rastra Bank

C) National Planning Commission D) Federal Parliament

o Toretra T . . . . WA ST TR e § | :

A) THEFHEN AEGAB) VU EsUem - C) IR TN WoderEh D) HESR FEAE

" In bank and financial institutions, Audit Committee is formed under the Co-ordination of

A) Chief Executive Officer B) Managing Director
C) Non Executive Director D) Executive Chairperson
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A) sfgem B) feume faem C) @ yfasd D) arfYe 4 9 B
Which of the following is the primary function of accounting system?
A) Vouching B) Reconciling C) Ledger Posting D) None of the above
TG I TR T Ge g e 57 g 2
A) Tasfra fafy 5@ fafu B) o fafy v amwg fafy
C) g-gem fafy 3 fasia fafy D) wger fafy e fafy
Which are the major two methods of preparing a trial balance?
A) Financial method and total method B) Total method and normal method
C) Balance method and financial method D) Balance method and total method
T 557 forator Trgem T e veens s 2
A) @z B) weiwd C) i D) fat
" Which of the following item is placed in the credit column of the trial balance?
A) Purchase B) Rent e-xpenses C) Furniture D) Sales
TeTeh! JerEE foar T wE S TR

a)  Feger TSI T VR Teie® UiedH T WS |

b) T Wiaw U fafvem srafus gopl enrem g A

A) ad®bEF B) aWE, bIF C) aibgadmm D) aib3dad®
Select the correct answer after considering the following points.

a)  All kinds of mistakes can be identified by the triﬂ balance.

b)  Trial balance is a list of all accounts of particular time period.

A) acorrect, b incorrect B) aincorrect, b correct
C) aand b both correct D) aand b both incorrect
AfE FHARTEATE dore aTad TS YhT] TR W TeTe FHA=E W e 2

A) T e B) TIfUc 9&®

C) WReEE e a5 D) wwfd =D

If salary is paid to employees in cash, which is correct form the followings?
A) asset increases B) liability increase

C) stockholder's equity increases D) asset decreases

T /A fharaed Teme o1 ge w59 s, afy aesmms) g Sead frae
oy wems wa@ A= # 2

A) R FE feraE B) WHI TR %M fwam

C) T Hew Tt fopae _ D) i weat T R

Generally, bank/cash book is called both a subsidiary book and a principal book, however, which of
the following bank/cash book is purely a subsidiary book?

A) Simple cash book B) Petty cash book

C) Two column cash book D) Three column cash book
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a) wHfE i) YA gl

b) wEE : ii) T derE O

o) @I ' i) g

d) R iv) TR A T

A)  a-iv, b-ii, c-i, d-iii B) a-ii, b-iv, c-i, d-iii C) a-i, b-iv, c-ii, d-iii D) a-ii, b-ii, c-iv, d-i
Match the following.

a) Assets i.  Commission Paid

b) Liability ii. Prepaid Salary expenses

c) Expenses iii. Discount Received

d) Income iv. Oulstanding Rent

A) a-iv, b-ii, c-i, d-iii B) a-ii, b-iv, ¢, d-ili ~ C)  a-i, b-iv, c-ii, d-iii D) a-ii, biii, c-iv, d-i

83. m@ﬁﬁmaﬂﬁmtmaﬁm@mﬁawm?

A) I feaero : B) <aE

C) T v faa D) drre! dfaad e

Which financial statement shows the revenues and expenses of a company for a specific period of
time?

Aj income statement B) balance sheet

C) cash flow statement D) statement of stockholder's equity

84. W@meﬁm@muﬁﬁmﬂ%ﬂ?
A) HiHa g B) e a1 Al g C) e gt feshl D) wiferR ¥

Which of the following transaction is not posted in profit and loss account?

A) commission receipt B) payment of salary and wages
C) sale of old assets D) all of the above
85. a9 foh TR 1ED ?
A) Sy St s fao T ; B) =HEEgH! FEATH T A el s
C) T AR D) i

. Why is balance sheet prepared?
A) 'to show the financial position of business B) toknow the assets and liabilities of a business

C) for the comparative study D) all of the above
86. TAFHE HATIE LA a1 SIS SIS ?
A) m+m:'ﬂmﬁ‘r B) ql:qﬁ'f,_—qf‘qﬁ=-qgwﬁr

C) =g wef + TR T = g R D) TR wS
Which of the following gives basis accounting equation?

A) Equit + Liabilities = Assets

B) Assets — Liabilities = Networth

C) Current Assets + Non current Assets = Shareholder's Equaity
D) All of the above .
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TARTHEY F=iTe AT ST B 2

A)  Net profit Margin B) Earning Per Share

C) Dividend Per Share D) Assets Turnover Ratio
which is not the Profitablility Ratio from the following?

A)  Net Profit Margin B) Earning Per Share

C) Dividend Per Share D) Assets Turnover Ratio
GT e YT g forsr smuraens & wiis o

A) TYFIRE T : B) i st fasht argura
C) = AU D) T S99

What is called the ratio of Net sales to Net working capital?

A)  Provitability Ratio : B) Working Capital Turnover Ratio
C) Current Ratio : D) Check not presented
AR FFer Aok T TmierTaT g vy -

A) Dishonored cheque - B) Discount received

C) Barn_k interest D) Check not presented

Which of the following would not affect the bank reconciliation? .

A) Dishonored cheque B) Discount received C) Bank interest D) Che_ck not presented
ﬁm%ﬁﬁﬁﬁmmmmwgﬁwmmﬁg ! I Swer fawmmy
A) Sifes B) Ew ‘ C) AT D) Faem fsk g

When balance as per pass book is the starting point to prepare the bank reconciliation statement,
Interest allowed by bank is . . .

A) added B) subtracted

C) not required to be adjusted D) - depends upon situation

TETHT AEY HAHT AL WA M 2

A)  3refumey B) =REERIE  C) wfvIamsEm D) afye s
In which of the following, statistics is applied? :

A) Economics ) : B) Business management

C) Commerce and industry D) All of the above

TR Y T FHE O g e e

A) T B) w&fzd gqE - C) uegw=y fafy D) EeEA

Which of the following is not a major method of data collection?
A)  Questionnaire B) Focused groups C)  Correlational methodD) Observation

FAGEE g TRD |

A) Skewness B) Variability
‘C) Peakedness around mean value D) Central value
Kurtosis indicates . . . . of data.

A) Skewness » B) Variability
C) Peakedness around mean value D) Central value
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Al ST Graryal qeishl FEIE 3l oEd ?

A) A R famTor T fafy 8

B) JHe! el TR h1H T Shiel TIEV T4 Sl TES

C) I9 TeHies AT T TeEs

D) T e YAl B 9 I TeAEns SUgT o4

Which of the following is not correct in relation to internal check? -
A) itis a toll of internal control

B) It verifies one's job by another automatically

C) it helps to minimize the mistakes

D) Itis a complex process which is not suitable for big organization

et Frgmrorems 9 s favTem TR © | 7 SeeiiEd Hel HAuid TS S 25 ?

A) TrafEa s B) frepraent Siifes et gfman

C) TR fra=m - D) ﬁar—ﬂa@ A T

Internal control has many components. Which one of the following is not a component?

A) control environment B) The entity's risk assessment process
C) quality control D) monitoring the control

T TS IR STETIRIETUETE S S@Taie] HaH T4 TR ?

A) U TEHER B) werrE s C) wrwfEEs D) JY e
Which institution can make internal audit as final audit?

A) Government of Nepal B) Auditor General

C) Financial Comptroller General . D) Ministry of Finance

COSO Framework F1 HTHR TeahHE Frsite e famome! i qwem 9ed 2

A) frafsqemera B) Sifeas dasitar C)  sifas g D) A
Which one is not the element of internal control of per the COSO Framework?

A) Control EnvironmentB) Risk assessment C) Physical facilities D) Monitoring
qoHE) FA A A 2 .

A) TR B) SUHUIRE C) e D) FURHI

Which of the following is a liability?

A) cash B) equipments C) debtors D) creditors
HEHTRT W Sfhe! Sl @A F1EE §1 8 2

A) TUE B) WM C) =uaH - D) JfmRTE
Which is the instrument that provides proprietary interest in company?

A) Bond B) Share C) Debenture D) Warrant
T ST o ST HIATCAIh] e T fwarem W= Fel e w9 ?

A) FHEEEI A TR Wb e8! T T hie HUH 8

B) Y Y HATer! Sk WA e SER @ ek Srea 9 Yt 89

C) AIBTH D) Wi HA A

In which conditions bank balance would be higher than office's Bank-Cash Entry Book?
A) cheque issued by office to a party but not credited by bnak '
B) an amount is deposited in bank account but the receipt is yet to be submitted in office

‘C) both Aand B D) none of the above
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